\0

nnn

setup

solver

Helpp

bab

Units

Output/Input |

[ | —
o

fesc 5} {SIZE} {DISP} {PANELoff} {wi

{err1} {ESC 5} {IF FLAG10=0} {windo
{errl} {goto}et21~{WINDOWSOn} {m

FScientific Cl
FExponential format (x.xxE+xx) C
{c{esc 5} {errl} {getlabel "Enter numbi{¢
{{window}~/wgfs {
23 4
~~{window }~/wgfs ~
23

~~{menubranch setup} ~

IrDifferentiation C
IrDiferentiation of functions and data R
{{esc 5} {errl} {LET VAR,1}~{MEN{«

{1{menubranch solver} {4
{{MENUBRANCH Main} {1

{1
DUp N
MMove one cell up N
{{up} {i
{1{menubranch helpp} {1

{esc 5} {errl} {INDICATE WORK} {W
{let point6i,(@count(evl..ev8192)-1)} {



300

bbb

{let rg3,@count(ew1..ew8192)} {let skij
/cex1~ex1..ex

49

/ceyl~eyl..ey

49

{CALC}

{goto}ey2~{end} {down} {UP 2} {let ou
{INDICATE} {GOTO}EV1~{windows:

0.10.0.0000000000000 0.

{esc 5} {errl} {INDICATE WORK} {W
/REEV2..EZ8192~{let step,(rg2-rgl)/rg
{goto}evl~

/cevl~evl..ev

103
/dfewl..ew
103

~

0.000000000000000

~

0.100000000000000

~

10.200000000000001

/cex1~ex1..ex
103

/ceyl~eyl..ey
103

~



inp

leftl

savve

rightl

dummy4
dummy

dummy1

/cezl~ezl..ez

103

~{calc}

{goto}ey2~{end} {down} {up 3} {let out
{INDICATE} {goto}evl~{windowson}

{esc 5} {errl } {INDICATE INPUT} {get
{IF RG1=1096300} {QUIT}

{getlabel "Input the upper limit - ",rg2}-
{getlabel "Input the number of steps - ",
{INDICATE WORK}~{return}

{let dummy4,dummy4-1}~{if dummy4-

{if dummy4<4} {left}

{return}~

NQuit 123 P;
CYes quit LOTUS 123 Y
{d/qyyy{esc} /v

{menubranch savve}

{let dummy4,dummy4+1} ~{if dummy4

{if dummy4>0} {right}

{return}~

0

1 R
tH R



dummy?2

mark

hiding

hiding2

viewl

SAVE2

RETRIV2

Ht

{let pointlr,@cellpointer("address")} ~
{return}

{anhiding {¢
al..

tH

~{esc 5} {right} {calc}/wch

H

ivl~{esc 5} {return}

{anhiding?2 {¢
al..

tH

~{esc 5} {right 4} {calc}/wch

H

ivl~{left} {esc 5} {return}

DUp N
MMove one cell up N
{{WINDOWSON} {up} {
{1t{menubranch view1} {1

{esc 5}/FXF{ESC 2}
SSSS
~IT1.IT8192~r{esc 2} {RETURN}

{esc 5} {LET POINT1Q,@RIGHT(@C]
/Fr{esc 2}



DUMMY3

linel

\a

bAC

bAD

/WCS132~{RIGHT}

{¢ D
{1

{goto} FB1~/refbl..ff8192~

/dfFB1..FB

8

~

2.5000000000000

~

0.1000000000000

~

3.2000000000000
{goto}fal~/dd{esc}.{end} {down}~fbl.
8

{let skipp,@string(@COUNT(FB1..FB¢
2

~{ESC 3}

/gtbxtbl..tb

8

afcl..fc

8

~v{esc 3} {windowson} {return}

{esc 5} {errl } {WINDOWSOFF} {let po
{let point2K,MIN1 }~{let point3K,step1
{goto}Fal~/refb2..fE8192~

/dfFB1..FB

20

~



data

dataa

2.5000000000000

~

0.0350000000000

~

3.2000000000000

{let skipp,@string(@COUNT(FB1..FB!{
5

~{ESC 3}/CFCI1~FCI1..FC

20

~/gOFGLQQLtIxfbl..fb

20

afcl..fc

20

~

v{esc 3} {windowson} {return}

H #DIV/Olt#

{esc 5} {errl } {WINDOWSOFF}/cpoint
fal..fc

40

/rncrrat~

fal..fc

40

/pf{esc} {esc}

TEST1

~rrrat

~oouqgq{ESC 3} {WINDOWSON} {ret

{¢ e

evl..ey
102



ERRI1

TESTI1

edit2

graf

~

/rncrratt~

evl..ey
102

/pf{esc} {esc}

777

~rrratt

~oouqgq{ESC 3} {WINDOWSON} {ret

{esc 5} {ONERROR TEST1,ERRMSG]}

{if flag10=0} {BEEP} {getlabel "Defauli
{esc 5} {windowson} {DISP} {GOTO}E

DUp R
MMove one cell up \Y%
{{up} {1
{1{menubranch edit2} {1
Bafter D
TThe function after integration S:

{c{esc 5} {errl } {windowsoff} {esc 3} {{¢
olotfProcessed function vs. VAR~TX W1
13

{{esc}v{esc 3} {left} {windowson}
{i{menubranch graf}



MAIN

menul

Arith

MEMO

CSolver F.
Clntegration and differentiation of funS
{c{esc 5} {errl} {menuCALL solver} {¢
{{MENUBRANCH Main} {I

n Functions U
ACalculate mathmatical functions Si
{{esc 5} {errl} {if flag8=1} {branch pc{
{1{goto }outputl~{windowsoft} {goto}{1
{{errl}{goto}iul~{LET FLAGS,1} {1

{menuBRANCH menul } {BRANCH !

+ _ %
ASubtruction \Y
{c{esc 5} {errl} {getnumber "Input vali{c
{l{let out,out-outl } ~ {1
{1{menubranch arith} {1
M -M M
ASubtruct from the memory \Y

{I{ESC 5} {let out2,out2-out}~ {1
{I{MENUBRANCH MEMO} {



func

DUp
MMove one cell up

{{up}

{1{menubranch func}



unitl Clnsert_edit_unit @)
Sinsert a new unit above the highlightO
{{INDICATE} {let flag11,0}~{ESC 5{]
{l{menubranch unitl} {goto}iul~ {1
{menubranch unitl } {goto}iul~

unit2 DUp R
MMove one cell up \Y
{d{up} {1

{t{menubranch unit2} {1



stat

STATI1

NORMAL

integrall

integral

Clmport_edit Fi
CEditing, Importing or adding statisticF
{{ESC 5} {WINDOWSOFF} {errl} {e{l

{¢{menuBRANCH stat} {¢
{menubranch stat} {1

{1
HE #DIV/Olt#
DUp N
MMove one cell up Ir
{d{up} t
~~{menubranch stat]} {1
{leditstat Ir
{ Ir
{bAD} {RETURN} {1

{1
FiData H

IrIntegrate a function imported as a filO
{{ESC 5} {errl } {LET FLAG9Y,2} {get{]
{{WINDOWSOFF} {if dummy<>""} {

RTrapezoid A
RTrapezoid rule of integration R
{{ESC 5} {errl } {WINDOWSOFF} {i{]
{{err] } {WINDOWSOFF} {if dummy{
{{let ex1,"+(ev2+evl)*(ew2-ew1)/2" {]
{t{goto}ex1~{edit} {home} {del}~{go{s
{i{if dummy=1}~{bbb} {i
{i{if dummy=2}~{bab} {i



DIFF

diffl

Polynomial curvefit subroutine

{{MENUbranch integral } {I

FData H
DDifferentiate a function imported as :O
{{ESC 5} {errl } {LET FLAG9Y,2} {get{]
{{WINDOWSOFF} {if dummy<>""} {;

12nd order 31
UUses dy2/dx2=(Y2-2*Y 1+Y0)/h"2, (U
{I{ESC 5} {err1 } {WINDOWSOFF} {i{l
{{err1 } {WINDOWSOFF} {if dummy{
{{let ex1,"+(ev3-2*EV2+evl)/((ew2-{]
{K{leteY1,"+(ev3-2*EV2+evl)/((ew2-{]
{{goto}ex1~{edit} {home} {del}~  {;
{{goto}eyl~{edit} {home}{del}~  {;

{i{if dummy=1}~{bbb} {i
{i{if dummy=2}~{bAb} {i
{l{MENUbranch diff1} {1

*****************************:dummyla 2



ROOT FINDING ROUTINE
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INPUT3
input2
inputl

flagl
flag4
FLAGS8

ERRMSG

WARN

Ir
Ir
Ir

oflag2
oflag5
oFLAGY9

Please import a data file first



warn1

Working... please wait



LINEAR [rMultiply matrices



impedit

hiding3

Eedit

ddata

impeditl

IrMultiply two ranges as matrices or vS

{t{menucall impedit1 } {1
{1{menubranch linear} {1
REdit C
REdit a matrix or a vector C
{{GOTO}WARNI~{WINDOWSON{
{'{menubranch impedit} {1
MATRIX

~{GOTO}GA1~{WINDOWSON! {mer

{left} {calc}/wch

al..

tH

~{esc 5} {goto}isl~{calc}/wch
tH

ivl~{esc 5} {return}

{goto}gal~{hiding3} {windowson} {par

{WINDOWSOFF} {errl}/rncrac~gal..i1

/fxf{esc} {esc}

LLLL

~rac~

R{ESC} {return}

R1st matrix_edit 21
REdit the 1st matrix E
{{GOTO}WARNI1~{WINDOWSON({(
{'{menubranch impedit1 } {1

matrix



impedit2

~{GOTO}GA1~{WINDOWSON! {mer

R1st matrix edit 21
REdit the 1st matrix E
{{GOTO} WARNI1~{WINDOWSON({(
{{menubranch impedit2} {1
LINEAR

~{GOTO}GAI~{WINDOWSON} {me1



= = #NAME?
Memory |

0 5
= = 0
1.541873E+019

ndowsoff} {LET DUMMY,@SECOND(@NOW)}~{windowson} {windowsoff} {let

wsoff} {GOTO}L1~/FCCEFORMULAS.WKI1~{LET FLAG10,1}~{TIM}
enucall main} {BRANCH NNN}

General Percent

Standard format (x.xx or x.xxE+xx) Percent format (x.xx%) [ESC] - Previous ment
{esc 5} {errl} {window }~/wgfg {esc 5} {err1} {getlabel "Enter number of decir
~{window } ~/wgfg {window }~/wgfp

{esc 3} {menubranch setup} 4

{window }~/wgfc ~{window } ~/wgfp

{menubranch setup} ~{menubranch setup}

Root find MHelp

Root finding problems (for example: (IrOn line help

{esc 5} {errl} {if flag3=1} {branch poi{¢{esc 5} {errl}{

{goto} IU1~{windowsoftf} {goto} ROO{1{goback} {windowson} {menubranch solver}
{let flag3,1}~/reevl..IR8192~{LET VAR,1} {menucall ROOTmenu}

{menubranch solver}

Previous

Previous page [ESC] - Previo

{pgup;~

{menubranch helpp}

BABI /REEV2.IR819Z{IF FLAG10=1#OR#@CELL

let point6i,@string(point61,0) } ~/cpoini{goto}ev1~ {RETURN}



, @STRING(rg3/4,0)} ~ /fin{esc 2}
isra4

~

t,@cellpointer("contents") }~{left 3}/re.{right 3} {down 10}~{esc 3}
on} {return}

0000000000000

INDOWSOFF} {goto}warnl~{windowson} {windowsoff} {let pointlh,@string((rg3+
3}~{let point3h,@string(rgl,15) } ~{let pointdh,@string(step,15)}~{let pointSh,@stri



,@cellpointer("contents")}~{down}/re{left 3} {down 10}~
{windowsoff} {return}

tlabel "Input the lower limit - ",rgl} {let rgl,@value(rgl)} {if @STRING(rg1,0)=""}{

{let rg2,@value(rg2)} {if @STRING(rg2,0)=""}{esc}
rg3} {let rg3,@value(rg3)} {if @STRING(rg3,0)=""} {esc}

=-1} {let dummy4,4}~{right 4}

Save Dos

Save the formuals Exit to DOS without quitting the program
{esc 5} {errl }/FXF{ESC 2} FORMUL{esc 5} {errl } {esc 3}/s

r {menubranch savve}

=5} {let dummy4,0}~{left 4}

1096300R 10RG3 50

4RGS5 RG6



hiding1

>sc 5}/wedal..ivl~{return}

Previous

Previous page
{WINDOWSON} {pgup}~
{menubranch view1}

{aanhiding1 {esc 5}/wcdal..ivl~{return}
al..

Ht

~{esc 5} {right 3} {calc}/wch
H

vl~{left 2} {esc 5} {return}

R{esc 5} {LET PGOBACK  {ESC 5}{GOT

/Fcce $EBS12
SSSS ~{WINDOWS
~{WINDOWSON} {RETURN}

ESave

ESave the description file

{'{esc 5} {WINDOWSOFF} {getlabel "File nat

{1{IF DUMMY=""}{LET OUT,"FN"}~{LET
{LET POINT1Z,DUMMY }~{LET OUT,"F?
{WINDOWSON} {WINDOWSOFF} {menut

ELLPOINTER("CONTENTS"),@LENGTH(@CELLPOINTER("CONTENTS"))-2)



{BREAKOFF}
{RETURN}

3192)/4,0)} ~/CSKIPP~POINTS8j~{ESC 3}/GRGOTXData~TYFrequency~TFFreque:

int1K,@string(RG3,0)} {LET STEP,(@MAX(FA1..FA8192)-@MIN(FA1..FA8192)
} {let point4K,max 1 }~/cpoint] K~pointSK~/cpoint] K~point6K~/CPOINT 1 K~POIN’



3192)/4,0)}~/CSKIPP~POINT8k~{ESC 3}/GRGOTXData~TY Probability~TFNorm:

#DIV/OlH#

‘1k~point10k~/cpointlk~point1 1k~{esc 3}/rncrat~

urn}

{if flag11=0} {windowsoff}/M. {end} {down}~{down}~{WINDOWSON} {WINDOY

{if flagl 1=2} {windowsoft} {down}/m.{end} {down}~{up}~{RIGHT 5}/M.{END} {
{return}



urn}

- and program's directory should be the same!! Press [ENTER] ...",DUMMY }~/WEY
RRMSG~{DOWN}{GETLABEL "PRESS [ENTER] TO RESTART .. .".DUMMY

Left NPrevious Edit Help

Move one cell to the left NPrevious page Edit or add a fiOn line help
{leftl} {1{pgup}~ {IF FLAG11={esc 5} {errl1}{
{menubranch edit2} {i{menubranch e{esc 5} {errl} {{errl} {if flag7

{right 5} {hidir{errl} {if flag7
{right 5} {WIN{goback} {WI}
{IF @UPPER(
{if dummy=""%
{IF DUMMY<
{windowson} {
Graph_save {WINDOWSC
Save graph as a .PIC file
{esc 5} {errl} {GETLABEL "Input file name - ",point7n}~{if point7n=""} {branch pc
/GS{esc}

~rq{menubranch graf}



Quit Help
Quit, Save FORMULAS. WK1 file, orOn line help

{esc 5} {errl} {menucall savve} {esc 5} {errl} {MARK} {windowsoff} {GOTO
{MENUBRANCH Main} {GOBACK} {windowson} {MENUBRANCH

Statistics leHelp
Editing or calculating statistic functiorCOn line help [ESC
{esc 5} {errl} {let flag6,1} {let flag7,3}{c{esc 5} {err]l } {MARK} {windowsoff} { GOT(
{menuBRANCH menul} {{GOBACK} {WINDOWSON} {MENUBRA
{branch nnn} {l{branch nnn}
NNN}

/ )3 X"2 Memory Help

Division [SPower of 2 Memory functiOn line help
{esc 5} {errl} {getnumber "Input value{c{esc 5} {errl} {{esc 5} {errl} {{esc 5} {errl}{
{let out,out/outl } ~ {{MENUBRANMENUBRANGOBACK} {\

{menubranch arith}

/M M RM XM Help
Divide memory CTransfer the vaExchange outpOn line help
{ESC 5} {let out2,out2/out}~ {{ESC 5} {esc 5{esc 5} {let dur{esc 5} {errl}{

{MENUBRANCH MEMO} {I{MENUBRANMENUBRANGOBACK} {\



Left

Move one cell to the left
{leftl}

{menubranch func}

NPrevious Calculate View descripti
NPrevious page Calculate the fiView the descr
{1{pgup}~ {ESC 5} {WIN{ESC 5} {wind

{1i{menubranch f{if flag6=1} {b {if @upper(@]
{errl} {windov{windowsoff} -
{if @upper(@left(@CELLPC
spreadsheetc:\win\kital87.wk1
~{BRANCH POINT1B}
{edit} {home} {del}~/cgl~g4~
{let out,$G$4} ~/re$g$4..$g%4
{edit} {home}'~{LEFT 5} {wi
{menubranch func}



Delete edit unit Help
Delete an existing unit and shift the otlOn line help

{INDICATE} {let flagl 1,2}~{ESC 5} {ESC 5} {err1} {mark} {windowsoff} {goto}hej
{menubranch unitl } {goto}iul~ {goback} {WINDOWSON} {menubranch unit]

Left

NPrevious Assign_unit Convert
Move one cell to the left NPrevious page Assign units toConvert to the
{leftl} {1{pgup}~ {ESC 5} {err1 }{ESC 5} {err1}
{menubranch unit2}

{i{menubranch t{menubranch t{LET OUT3,0

{menubranch t



Norm_dist DGraph _save Help
Normal distribution SiSave graph as On line help
{ESC 5} {if flag5=0#AND#@SUM(F.{({ESC 5} {err1 }{ESC 5} {errl} {mark} {windc
{errl} {esc 3} {getnumber "input the m{{WINDOWSC{goback} {WINDOWSON} {r
{goto}warnl~{windowson} {windows{ITEST1
{menuBRANCH stat} ~rq{esc 3}

{WINDOWSON} {menubranch stat}

#DIV/O!H#

Import CFunc_edit Help

Import data file (list of numbers) CEdit statistic fuOn line help

{ESC 5} {ERR1} {let flag5,1} {getlabe {I{ESC 5} {WIN{ESC 5} {errl} {mark} {windc
/refal..fc8192~{goto}fal~{esc 3}/fin{{1{menubranch s{goback} {windowson} {menu
ISRA6

~{menubranch statl }

Override edit func DHelp

Override an existing function DOn line help

{INDICATE} {let flagl1,1}~{ESC 5} {I{ESC 5} {err1} {mark} {windowsoff} { GOTQO
{menubranch editstat} {goto}iul~ {1{goback} {windowson} {menubranch editstat
elp

n line help

ESC 5} {errl} {mark} {windowsoff} { GOTO}HEP5~/REIV1..IV8192~/FIT{ESC 2}H
zoback} {windowson} {menubranch integrall }

Graph Help
Show graph before and after integraticOn line help
{ESC 5} {errl} {menucall graf} {esc 5} {errl} {mark} {IF FLAGY9=1} {window:

{esc 3} {MENUbranch integral} {errl} {IF FLAG9=2} {windowsoff} {GOTO}I
etexl,"+(ev2+evl)*(ew2-ewl)/2+((E {goback} {windowson} {menubranch integral }
soto}ex1~{edit} {home} {del}~{goto}eyl~{edit} {home} {del}~

f dummy=1}~{bbb}

f dummy=2}~{bab}



MENUbranch integral }

elp

1 line help

ESC 5} {errl} {mark} {windowsoff} { GOTO}HEP6~/REIV1..IV3000~/FIT{ESC 2}H
zoback} {windowson} {menubranch diff}

Graph Help

Show graph before and after differentiOn line help

{ESC 5} {menucall graf} {esc 5} {errl} {mark} {IF FLAGY9=1} {window:
{esc 3} {MENUbranch diff1} {errl} {IF FLAG9=2} {windowsoff} {GOTO}I

et ex1,"+(ev4-3*EV3+3*EV2-ev1)/((¢{goback} {windowson} {menubranch diffl}
eteY1,"+(ev4-3*EV3+3*EV2-evl)/((ew2-ew1)"3)"} ~

soto}ex1~{edit} {home} {del}~

zoto}eyl~{edit} {home} {del}~

fdummy=1}~{bbb}

fdummy=2}~{bAb}

MENUbranch diff1}

dC:\345



{LET VAR,@SECOND(@NOW)}~
{IF (VAR<=DUMMY+3#AND#VAR>=DUMMY #OR#(VAR+60-DUMMY<=3)}

{RETURN}

flag3 oflag6 0
flag3a oflag7 0
flagl0 oflagl 1 0



0.001 1.2581948



Help



On line help

{errl} {mark} {windowsoff} { GOTO}HEP9~/REIV1..IV3000~/FIT{ESC 2} HELP9~
{goback} {WINDOWSON} {menubranch LINEAR}

Invert DHelp

Invert a range as a square matrix SiOn line help

{indicate WORK} {goto}warnl~{win{¢{errl} {mark} {windowsoff} {GOTO} HEP9~
{indicate} {menubranch impedit} {{goback} {WINDOWSON} {menubranch imy

{menubranch impedit}
wbranch impedit}

1elon} {edit} {?}~{windowsoff} {paneloff} {unhiding} {return}

320~

{windowsoff} {LEFT 10+dumr
Clear MData_save Help
Clear the worksheet

MSaves the matrOn line help
{windowsoff}/regal..ir320~{WINDO {i{esc 3} {errl} {{errl} {mark} {windowsoft} {(
{menubranch impedit1} {i{ddata} {goback} {WINDOWSON} {r
{i{fWINDOWSON} {menubranch impedit] }



wubranch impedit1 } {indicate} {menubranch impedit1}

Clear SData_save Help

Clear the worksheet SSaves the matrOn line help

{windowsoff}/regal..ir320~{WINDO {i{esc 3} {errl} {{errl} {mark} {windowsoft} {(

{menubranch impedit2} {¢{ddata} {goback} {WINDOWSON} {r
/d{WINDOWSON} {menubranch impedit2}

wubranch impedit2} {indicate} {menubranch impedit2}



unit,"None"} ~{let out3,0}~{let out2,0}~{LET OUT,0}~{branch nnn}

("TYPE",L1.L1)="L"}/WEY






esc}

[ESC] - Previous menu

RG7



o1

DUMMY,OUT&POINT1Z} {LET OUT,0}~{SAVE2} {branch point1v}

sranch view1}

\~{LET POINTIR,@CELLPOINTER("ADDRESS")} {GOTO}IT1~



ncy Distribution~SS

JJ/RG3}~{CALC}



al Distribution~SS

NSOFF}
DOWN }~{UP}~{RIGHT 5}/M.{END} {DOWN}~{UP}~{LEFT 10}~{UP} { WINDOW?S



Y
}~{windowsoff} {paneloft} {INDICATE} {BRANCH nnn}

)int8p}



Main}

NCH MENU1}

[ESC] - Previous menu



on
iption [ESC] - Previous menu

~

ndowson}



p3~/reivl..iv8192~/fit{esc 2} help3~{GOTO}HEP2C~{windowson} {menubranch helpp}
'}

mit2}



nenuBRANCH stat}

ibranch statl}

W HEP4~/REIV1..IV8192~/FIT{ESC 2}HELP4~{goto}hep4A~{WINDOWSON! {menuc
}

ELP5~{goto}hepSA~{WINDOWSON} {menucall helpp}

soff} {GOTO}HEP5~/REIV1..IV3000~/FIT{ESC 2} HELP5~{goto}hep5B~{WINDOWS
1EP5~/REIV1..IV3000~/FIT{ESC 2}HELP5~{goto } hepSC~{WINDOWSON} {menucall



ELP6~{goto}hep6~{ WINDOWSON} {menucall helpp}

soff} {GOTO}HEP6~/REIV1..IV3000~/FIT{ESC 2} HELP6~{goto} hep6a~{ WINDOW S(
1EP6~/REIV1..1V3000~/FIT{ESC 2} HELP6~{goto} hep6B~{ WINDOWSON} {menucall



{BRANCH TIM}



{GOTO}HEP9~{WINDOWSON} {menucall helpp}

/REIV1..1V3000~/FIT{ESC 2}HELP9~{GOTO}HEP9A~{WINDOWSON} {menucall he
pedit}

imy4} {right dummy4} {windowson} {menubranch edit2}

SOTO}HEP9~/REIV1..IV3000~/FIT{ESC 2} HELP9~{GOTO} HEP9B~{WINDOWSONM
nenubranch impedit]}



JOTO}HEP9~/REIV1.1IV3000~/FIT{ESC 2} HELP9~{GOTO} HEP9C~{WINDOWSONM
nenubranch impedit2}



30N} {WINDOWSOFF}



all helpp}

ON} {menucall helpp}
helpp}



JN} {menucall helpp}
helpp}



Ipp}

{} {menucall helpp}



{} {menucall helpp}



Scientific and Engineering Tool for Lotus 1-2-3
Version 1.3
Copyright (C) 1987-1991 K.I.T.A.L. Software, all rights reserved
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of Lotus Development Corporation

Developed and Written by Israel Kehaty

This is a SHAREWARE program. Registration fee is $40.

Using this program the user can do:

- Simple arithmetic

- Functions editing and calculation

- Physical units definition and conversion

- Integration and Differentiation of functions/tables
- Editing and calculating statistic functions

- Frequency and normal distribution

- Curve fitting (4 types)

- Root finding (including non-linear equations)
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- Simultaneous linear equations
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